
MAT330/681 Lecture 17 4/7/2021

Jointly distributed Random Variables
-

Suppose X and Y are discrete random variables
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Example: Prob
.

that a pedestrian is hit by a car when

crossing a dangerous intersection w/ traffic light
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what is the probability that

a) Pedestrian is not hit and light is yellow ?

PCH -- O ,
L - yellow) - 0.09=94 .

b) Pedestrian is not hit given
that light is yellow ?

Plttoll - yellow) - = 873=09--909
.

c) Pedestrian is hit and light is red or yellow ?

P(H=I ,L -- red)tP(H -- I , L - yellow)= 0.012=1.24 .



Suppose X and Y are continuous random variables

^Y Joint prob. density function
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Marginal distributions .
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Exanpte: Suppose X and Y are jointly distributed with pdf.
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c) Compute E (X) .
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